Bid Tabulation Packet for Solicitation ITBC NO. 2021-004

ATLANTIC DUNES PARK SEAWALL REPLACEMENT

Bid Designation: Public



City of Delray Beach

Bid #ITBC NO. 2021-004 - ATLANTIC DUNES PARK SEAWALL REPLACEMENT

Start Date Oct 23, 2020 1:28:54 PM EDT Awarded Date Not Yet Awarded

ITBC NO. 2021-00401-01 A. GENERAL CONDITI	ONS: Site Mobilization/De	mobilization			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Carey Marine Foundation	First Offer - \$14,000.00	1 / lump sum	\$14,000.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:		
Construct Co Inc.	First Offer - \$14,962.01	1 / lump sum	\$14,962.01		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Ebsary Foundation Co.	First Offer - \$16,010.00	1 / lump sum	\$16,010.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Custom Built Marine Construction	First Offer - \$16,497.40	1 / lump sum	\$16,497.40		Υ
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		

ITBC NO. 2021-00401-02 A. GENERAL CONDITIONS: Maintenance of Traffic (Ped. And Vehicular)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Carey Marine Foundation	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Construct Co Inc.	First Offer - \$15,021.65	1 / lump sum	\$15,021.65		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Custom Built Marine Construction	First Offer - \$15,037.60	1 / lump sum	\$15,037.60		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Ebsary Foundation Co.	First Offer - \$15,300.00	1 / lump sum	\$15,300.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

ITBC NO. 2021-00401-03 A. GENERAL CONDITIONS: As-Built Record Drawings							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ebsary Foundation Co.	First Offer - \$2,333.00	1 / lump sum	\$2,333.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Carey Marine Foundation	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:				
Construct Co Inc.	First Offer - \$4,337.36	1 / lump sum	\$4,337.36		Υ		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:				
Custom Built Marine Construction	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:				

ITBC NO. 2021-00401-04 A. GENERAL CONDITIONS: Indemnification						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Ebsary Foundation Co.	First Offer - \$10.00	1 / allowance	\$10.00	Y	
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Construct Co Inc.	First Offer - \$10.00	1 / allowance	\$10.00	Y	
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Custom Built Marine Construction	First Offer - \$10.00	1 / allowance	\$10.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Carey Marine Foundation	First Offer - \$10.00	1 / allowance	\$10.00	Y	
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

ITBC NO. 2021-00401-05 A. GENERAL CONDIT	IONS: Unforeseen Condition	ns (Allowance)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ebsary Foundation Co.	First Offer - \$110,000.00	1 / allowance	\$110,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Construct Co Inc.	First Offer - \$110,000.00	1 / allowance	\$110,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Custom Built Marine Construction	First Offer - \$110,000.00	1 / allowance	\$110,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Carey Marine Foundation	First Offer - \$110,000.00	1 / allowance	\$110,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			

ITBC NO. 2021-00401-06 A. GENERAL CONDITIONS: NPDES Permit/Erosion Control (Allowance)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ebsary Foundation Co.	First Offer - \$5,000.00	1 / allowance	\$5,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Construct Co Inc.	First Offer - \$5,000.00	1 / allowance	\$5,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Custom Built Marine Construction	First Offer - \$5,000.00	1 / allowance	\$5,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Carey Marine Foundation	First Offer - \$5,000.00	1 / allowance	\$5,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

ITBC NO. 2021-00401-07 A. GENERAL CONDITIONS: Project Identification Sign								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Carey Marine Foundation	First Offer - \$200.00	2 / each	\$400.00		Υ			
		Supplier Product Code: Supplier Notes:						
Construct Co Inc.	First Offer - \$475.08	2 / each	\$950.16		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ebsary Foundation Co.	First Offer - \$2,055.00	2 / each	\$4,110.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Custom Built Marine Construction	First Offer - \$4,900.00	2 / each	\$9,800.00		Υ			

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

ITBC NO. 2021-00402-01 B. DEMOLITION: Clearing & Grubbing								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Carey Marine Foundation	First Offer - \$10.4545	1100 / square feet	\$11,499.95		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ebsary Foundation Co.	First Offer - \$29.33	1100 / square feet	\$32,263.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Construct Co Inc.	First Offer - \$67.34	1100 / square feet	\$74,074.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Custom Built Marine Construction	First Offer - \$100.00	1100 / square feet	\$110,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

ITBC NO. 2021-00402-02 B. DEMOLITION: Remove and Store Existing Signs								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Carey Marine Foundation	First Offer - \$400.00	1 / lump sum	\$400.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Construct Co Inc.	First Offer - \$500.00	1 / lump sum	\$500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ebsary Foundation Co.	First Offer - \$4,110.50	1 / lump sum	\$4,110.50		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Custom Built Marine Construction	First Offer - \$17,000.00	1 / lump sum	\$17,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					

ITBC NO. 2021-00403-01 C. ON SITE SEAWALL CONSTRUCTION: Floating Turbidity Barrier							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Construct Co Inc.	First Offer - \$15.77	400 / linear feet	\$6,308.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Custom Built Marine Construction	First Offer - \$20.00	400 / linear feet	\$8,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Carey Marine Foundation	First Offer - \$21.2625	400 / linear feet	\$8,505.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ebsary Foundation Co.	First Offer - \$34.23	400 / linear feet	\$13,692.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

ITBC NO. 2021-00403-02 C. ON SITE SEAWALL CONSTRUCTION: Monitoring Existing Structures								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Construct Co Inc.	First Offer - \$5,032.00	1 / lump sum	\$5,032.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Carey Marine Foundation	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Y			

Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ebsary Foundation Co.	First Offer - \$24,106.50	1 / lump sum	\$24,106.50		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Custom Built Marine Construction	First Offer - \$37,000.00	1 / lump sum	\$37,000.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

ITBC NO. 2021-00403-03 C. ON SITE SEAWALL CONSTRUCTION: Precast Concrete Sheet Pile Wall											
Supplier Unit Pri		Qty/Unit	Total Price	Attch.	Docs						
Custom Built Marine Construction	First Offer - \$73.55	2100 / linear feet	\$154,455.00		Υ						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
Ebsary Foundation Co.	First Offer - \$167.00	2100 / linear feet	\$350,700.00		Υ						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:										
Construct Co Inc.	First Offer - \$167.06	2100 / linear feet	\$350,826.00		Υ						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
Carey Marine Foundation	First Offer - \$252.599	2100 / linear feet	\$530,457.90		Υ						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									

ITBC NO. 2021-00403-04 C. ON SITE SEAWALL CONSTRUCTION: Precast Concrete Sheet Pile Wall Pre-Augering										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Construct Co Inc.	First Offer - \$25.78	2100 / linear feet	\$54,138.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Ebsary Foundation Co.	First Offer - \$33.18	2100 / linear feet	\$69,678.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Custom Built Marine Construction	First Offer - \$73.55	2100 / linear feet	\$154,455.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

ITBC NO. 2021-00403-05 C. ON SITE SEAWALL CONSTRUCTION: Concrete Class IV, Bulkhead										
Supplier	Supplier Unit Price		Total Price	Attch.	Docs					
Carey Marine Foundation	First Offer - \$75.00	50 / cubic yards	\$3,750.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Construct Co Inc.	nstruct Co Inc. First Offer - \$948.68		\$47,434.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Custom Built Marine Construction	First Offer - \$1,200.00	50 / cubic yards	\$60,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ebsary Foundation Co.	First Offer - \$1,315.50	50 / cubic yards	\$65,775.00		Υ					
Product Code:		Supplier Product Code:	•							
Agency Notes:		Supplier Notes:								

ITBC NO. 2021-00403-06 C. ON SITE SEAWALL CONSTRUCTION: Reinforcing Steel, Bulkhead								
Supplier Unit Price Qty/Unit Total Price					Docs			
Construct Co Inc.	First Offer - \$0.61	37500 / pounds	\$22,875.00		Υ			

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Ebsary Foundation Co.	First Offer - \$0.89	37500 / pounds	\$33,375.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'
Custom Built Marine Construction	First Offer - \$1.25	37500 / pounds	\$46,875.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·
Carey Marine Foundation	First Offer - \$1.50	37500 / pounds	\$56,250.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

ITBC NO. 2021-00403-07 C. ON SITE SEAWALL CONSTRUCTION: Plastic Filter Fabric, Subsurface										
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs					
Construct Co Inc.	First Offer - \$7.58	450 / square yards	\$3,411.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Carey Marine Foundation	First Offer - \$10.00	450 / square yards	\$4,500.00		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Ebsary Foundation Co.	First Offer - \$31.58	450 / square yards	\$14,211.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Custom Built Marine Construction	First Offer - \$45.00	450 / square yards	\$20,250.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

ITBC NO. 2021-00403-08 C. ON SITE SEAWALL CONSTRUCTION: Bedding Stone											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Carey Marine Foundation	First Offer - \$50.00	100 / tons	\$5,000.00		Υ						
Product Code:		Supplier Product Cod	le:								
Agency Notes:		Supplier Notes:									
Construct Co Inc.	First Offer - \$79.63	100 / tons	\$7,963.00		Υ						
Product Code:	Supplier Product Code:										
Agency Notes:		Supplier Notes:									
Ebsary Foundation Co.	First Offer - \$150.30	100 / tons	\$15,030.00		Y						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Custom Built Marine Construction	First Offer - \$175.00	100 / tons	\$17,500.00		Y						
Product Code:		Supplier Product Cod	le:								
Agency Notes:		Supplier Notes:									

ITBC NO. 2021-00403-09 C. ON SITE SEAWALL CONSTRUCTION: Dewatering & SFWMD Permit (Allowance)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ebsary Foundation Co.	First Offer - \$25,000.00	1 / allowance	\$25,000.00		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Construct Co Inc.	First Offer - \$25,000.00	1 / allowance	\$25,000.00	Υ	Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Custom Built Marine Construction	First Offer - \$25,000.00	1 / allowance	\$25,000.00		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Carey Marine Foundation	First Offer - \$25,000.00	1 / allowance	\$25,000.00		Υ					
Product Code:		Supplier Product Cod	le:							

Agency Notes: Supplier Notes:

Supplier Totals

f Construct	t Co Inc.	\$747,842.18 (18/18 items)	
Bid Contact	Lindsey Buchanan info@constructco-inc.com Ph 407-282-5340	Address 931 Dennis Ave Orlando, FL 32807	
Bid Notes	Our total proposal is to construct the sheet pile approximately 230LF.	e wall as shown and scaled on the construction plans,	
	Attached is a copy of the notarized non-collusion	on affidavit.	
Agency Not	es:		lead attch
		Attached is a copy of the notarized non-collusion affidavit.	
f Ebsary Fo	oundation Co.	\$800,704.00 (18/18 items)	
Bid Contact	Ariel Rodilla arodilla@ebsaryfoundationco.com Ph 305-986-7414	Address 2154 N.W. North River Dr. Miami, FL 33125	
Agency Not	es:	Supplier Notes: Head At	:tch:
f Custom B	Built Marine Construction	\$826,880.00 (18/18 items)	
Bid Contact	Robbie Belasic robbie@custombuiltmarine.com Ph 352-293-1585	Address 3119 Hammond Road Fort Pierce, FL 34946	
Agency Not	es:	Supplier Notes: Head Atto	:h:
Carey Mari	ine Foundation	\$796,272.85 (17/18 it	ems
Bid Contact	Michael Carey mike@careymarine.com Ph 561-685-9303	Address 218 Westminster Rd West Palm Beach, FL 33405	
Agency Not	ec.	Supplier Notes:	

__

Construct Co Inc.

Bid Contact Lindsey Buchanan Address 931 Dennis Ave

info@constructco-inc.com Orlando, FL 32807

Ph 407-282-5340

Bid Notes Our total proposal is to construct the sheet pile wall as shown and scaled on the construction plans,

approximately 230LF.

Attached is a copy of the notarized non-collusion affidavit.

Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
ITBC NO. 2021-00401-01	A. GENERAL CONDITIONS: Site Mobilization/Demobilization	Supplier Product Code:	First Offer - \$14,962.01	1 / lump sum	\$14,962.01	Υ
ITBC NO. 2021-00401-02	A. GENERAL CONDITIONS: Maintenance of Traffic (Ped. And Vehicular)	Supplier Product Code:	First Offer - \$15,021.65	1 / lump sum	\$15,021.65	Υ
ITBC NO. 2021-00401-03	A. GENERAL CONDITIONS: As-Built Record Drawings	Supplier Product Code:	First Offer - \$4,337.36	1 / lump sum	\$4,337.36	Υ
ITBC NO. 2021-00401-04	A. GENERAL CONDITIONS: Indemnification	Supplier Product Code:	First Offer - \$10.00	1 / allowance	\$10.00	Υ
ITBC NO. 2021-00401-05	A. GENERAL CONDITIONS: Unforeseen Conditions (Allowance)	Supplier Product Code:	First Offer - \$110,000.00	1 / allowance	\$110,000.00	Υ
ITBC NO. 2021-00401-06	A. GENERAL CONDITIONS: NPDES Permit/Erosion Control (Allowance)	Supplier Product Code:	First Offer - \$5,000.00	1 / allowance	\$5,000.00	Υ
ITBC NO. 2021-00401-07	A. GENERAL CONDITIONS: Project Identification Sign	Supplier Product Code:	First Offer - \$475.08	2 / each	\$950.16	Υ

Lot Total **\$150,281.18**

Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
ITBC NO. 2021-00402-01	B. DEMOLITION: Clearing & Grubbing	Supplier Product Code:	First Offer - \$67.34	1100 / square feet	\$74,074.00	Y
ITBC NO. 2021-00402-02	B. DEMOLITION:	Supplier	First Offer - \$500.00	1 / lump sum	\$500.00	Υ

Remove and Store Existing Signs

Product Code:

				Lot Total	\$74,574.00	
Item#	Line Item	Notes	Unit Price	Qty/Unit		Attch. Docs
ITBC NO. 2021-00403-01	C. ON SITE SEAWALL CONSTRUCTION: Floating Turbidity Barrier	Supplier Product Code:	First Offer - \$15.77	400 / linear feet	\$6,308.00	Y
ITBC NO. 2021-00403-02	C. ON SITE SEAWALL CONSTRUCTION: Monitoring Existing Structures	Supplier Product Code:	First Offer - \$5,032.00	1 / lump sum	\$5,032.00	Y
ITBC NO. 2021-00403-03	C. ON SITE SEAWALL CONSTRUCTION: Precast Concrete Sheet Pile Wall	Supplier Product Code:	First Offer - \$167.06	2100 / linear feet	\$350,826.00	Y
ITBC NO. 2021-00403-04	C. ON SITE SEAWALL CONSTRUCTION: Precast Concrete Sheet Pile Wall Pre- Augering	Supplier Product Code:	First Offer - \$25.78	2100 / linear feet	\$54,138.00	Y
ITBC NO. 2021-00403-05	C. ON SITE SEAWALL CONSTRUCTION: Concrete Class IV, Bulkhead	Supplier Product Code:	First Offer - \$948.68	50 / cubic yards	\$47,434.00	Υ
ITBC NO. 2021-00403-06	C. ON SITE SEAWALL CONSTRUCTION: Reinforcing Steel, Bulkhead	Supplier Product Code:	First Offer - \$0.61	37500 / pounds	\$22,875.00	Υ
ITBC NO. 2021-00403-07	C. ON SITE SEAWALL CONSTRUCTION: Plastic Filter Fabric, Subsurface	Supplier Product Code:	First Offer - \$7.58	450 / square yards	\$3,411.00	Υ
ITBC NO. 2021-00403-08	C. ON SITE SEAWALL CONSTRUCTION: Bedding Stone	Supplier Product Code:	First Offer - \$79.63	100 / tons	\$7,963.00	Υ

ITBC NO. 2021-00403-09 C. ON SITE SEAWALL Product CONSTRUCTION: Dewatering & SFWMD Permit (Allowance)	First Offer - \$25,000.00	1 / allowance	\$25,000.00	Y	Y
---	---------------------------	---------------	-------------	---	---

Lot Total **\$522,987.00**

Supplier Total \$747,842.18

Construct Co Inc.

Item: C. ON SITE SEAWALL CONSTRUCTION: Dewatering & SFWMD Permit (Allowance)

Attachments

Non-Collusion Affidavit NOTARIZED Copy.pdf

Supplier Response Form

NON-COLLUSION AFFIDAVIT

STATE OF Florida
COUNTY OF Ovariet
Before me, the undersigned authority, personally appeared Lindsey Ann Buchanan, who, after being by me first duly sworn, deposes and says of his/her
a. He/She is Vice PRESIDENT of CONSTRUCT CO, INC. the Bidder/Proposer that has submitted a Bid/Proposal to perform work for the following:
solicitation No: 2021-004 Title: Atlantic Dunes Park Seawall Replacement
b. He/She is fully informed respecting the preparation and contents of the attached solicitation, and of all pertinent circumstances respecting such solicitation.
1:in and is not a collusive or sham Bid/Proposal.
c. Neither the said Bidder/Proposer nor any of its officers, partners, owners, agents, representatives, employees, or parties in interest, including this animal, has in any way consects. Neither the said Bidder/Proposer nor any of its officers, partners, owners, agents, representatives, employees, or parties in interest, including this animal, has in any way consects, including this animal, has in any way consects, or parties in interest, including this animal, has in any way consects, or parties in interest, including this animal, has in any way consects, or parties in interest, including this animal, has in any way consects, or parties in interest, including this animal, has in any way consects, or parties in interest, including this animal, has in any way consects, or parties in interest, including this animal, has in any way consects, or parties in interest, including this animal, has in any way consects, or parties in interest, including this animal, has in any way consects, and including this animal, has in any way consects, or parties in interest, including this animal, has in any way consects, and including this animal, has in any way consects, and including this animal, has in any way consects, and including this animal, has in any way consects, and including this animal, has in any way consects, and including this animal, has in any way consects, and including this animal, has animal this
any other Bidder/Proposer, or to fix any overhead, profit, or cost services and other Bidder/Proposed contract.
d. The price or prices quoted in the attached Bid/Proposal are fair and proper and are not tainted by any collusion, conspiracy, connivance, or unlawful agreement on the part of the Bidder/Proposer or any of its agents, representatives, owners, employees, or parties in interest, including this affiant.
Signature
Subscribed and sworn to (or affirmed) before me this 8th day of December 20 20 by Lindsey Ann Buchanan, who is personally known to me or who has as identification.
produced Warras dyner license
N. tan. Cignatura
Notary Signature. Notary Name: Glona Mercodes Hernandez Notary Public (State): Flonda Notary Public (State): Flonda
My Commission No: 56-69705
Notary Public Expires on: 02 05 2021 State of Florida
My Commission Expires 02/05/2021
Commission No. GG 69705

Please enter your password below and click Save to save your response.

Please be aware that typing in your password acts as your electronic signature, which is just as legal and binding as an original signature. (See Electronic Signatures in Global and National Commerce

To take exception:

- 1) Click Take Exception.
- 2) Create a Word document detailing your exceptions.
- 3) Upload exceptions as an attachment to your offer on BidSync's system.

By completing this form, your bid has not yet been submitted. Please click on the place offer button to finish filling out your bid.

Username ConstructC Password ••••••

Save

Take Exception

Close

^{*} Required fields

ACKNOWLEDEMENT OF ADDENDA

INSTRUCTIONS COMPLET PART I OR PART II, WHICHEVER APPLIES

PART I

List below that dates of issue for addendum received in connection with this solicitation.

Addendum #1, Dated 11/10/2020

Addendum #2, Dated 11/20/2020

Addendum #3, Dated 12/04/2020

Addendum #4, Dated

Addendum #5, Dated

Addendum #6, Dated

Addendum #7, Dated

Addendum #8, Dated

Addendum #9, Dated

Addendum #10, Dated

PART II

■ NO ADDENDUM WAS RECEIVE IN CONNECTION WITH THE SOLICATION

Construct Co Inc

Frim Name

Basil S Buchanan

Signature

Basil S Buchanan, President

Name and TItle

12/07/2020

CONFLICT OF INTEREST DISCLOSURE FORM

The award of this contract is subject to the provisions of Chapter 112, *Florida Statutes*. All Bidders/Proposers must disclose within their Bid/Proposal: the name of any officer, director, or agent who is also an employee of the City of Delray Beach.

Furthermore, all Bidders/Proposers must disclose the name of any City employee who owns, directly or indirectly, an interest of more than five percent (5%) in the Bidder's/Proposer's firm or any of its branches.

The purpose of this disclosure form is to give the City the information needed to identify potential conflicts of interest for evaluation team members and other key personnel involved in the award of this contract.

The term "conflict of interest" refers to situations in which financial or other personal considerations may adversely affect, or have the appearance of adversely affecting, an employee's professional judgment in exercising any City duty or responsibility in administration, management, instruction, research, or other professional activities.

Please check one of the following statements and attach additional documentation if necessary:

- To the best of our knowledge, the undersigned firm has no potential conflict of interest due to any other Cities, Counties, contracts, or property interest for this Bid/Proposal.
- The undersigned firm, by attachment to this form, submits information which may be a potential conflict of interest due to other Cities, Counties, contracts, or property interest for this Bid/Proposal.

Acknowledged by:

Construct Co Inc

Firm Name

Basil S Buchanan

Signature

Basil S Buchanan, President

Name and Title

12/07/2020

DRUG-FREE WORKPLACE

Construct Co Inc

is a drug-free workplace and has

(Company Name)

a substance abuse policy in accordance with and pursuant to Section 440.102, Florida Statutes.

Acknowledged by:

Construct Co Inc

Firm Name

Basil S Buchanan

Signature

Basil S Buchanan, President

Name and Title

12/07/2020

NON-COLLUSION AFFIDAVIT

STATE OF FL

COUNTY OF Orange

Before me, the undersigned authority, personally appeared **Lindsey Buchanan**, who, after being by me first duly sworn, deposes and says of his/her personal knowledge that:

a. He/She is **Vice President**of **Construct Co Inc**, the Bidder/Proposer that has submitted a Bid/Proposal to perform work for the following:

Solicitation No.: 2021-004 Title: Atlantic Dunes Park Seawall Replacement

b. He/She is fully informed respecting the preparation and contents of the attached solicitation, and of all pertinent circumstances respecting such solicitation.

Such Bid/Proposal is genuine and is not a collusive or sham Bid/Proposal.

- c. Neither the said Bidder/Proposer nor any of its officers, partners, owners, agents, representatives, employees, or parties in interest, including this affiant, has in any way colluded, conspired, connived, or agreed, directly or indirectly, with any other Bidder/Proposer, firm, or person to submit a collusive or sham Bid/Proposal in connection with the solicitation and contract for which the attached Bid/Proposal has been submitted or to refrain from proposing in connection with such solicitation and contract, or has in any manner, directly or indirectly, sought by agreement or collusion or communication or conference with any other Bidder/Proposer, firm, or person to fix the price or prices in the attached Bid/Proposal or any other Bidder/Proposer, or to fix any overhead, profit, or cost element of the Bid/Proposal price or the Bid/Proposal price of any other Bidder/Proposer, or to secure through any collusion, conspiracy, connivance, or unlawful agreement any advantage against the City or any person interested in the proposed contract.
- d. The price or prices quoted in the attached Bid/Proposal are fair and proper and are not tainted by any collusion, conspiracy, connivance, or unlawful agreement on the part of the Bidder/Proposer or any of its agents, representatives, owners, employees, or parties in interest, including this affiant.

Lindsey Buchanan

Signature

Subscribed and sworn to (or affirmed) before me this **8th**day of **December** 20**20** by **Lindsey Buchanan**, who is personally known to me or who has produced as identification.

SEAL Notary Signature:

Notary Name:

Notary Public (State):

My Commission No:

Expires on:

NOTIFICATION OF PUBLIC ENTITY CRIMES LAW

Pursuant to Section 287.133, *Florida Statutes*, you are hereby notified that a person or affiliate who has been placed on the convicted contractors list following a conviction for a public entity crime may not submit a Bid/Proposal on a contract to provide any goods or services to a public entity; may not submit a Bid/Proposal on a contract with a public entity for the construction or repair of a public building or public work; may not submit Bids/Proposals on leases or real property to a public entity; may not be awarded or perform work as a contractor, supplier, sub-Bidder/sub-Proposer, or consultant under a contract with any public entity; and may not transact business with any public entity in excess of the threshold amount provided in Section 287.017 [F.S.] for Category Two [\$35,000.00] for a period of thirty-six (36) months from the date of being placed on the convicted contractors list.

Acknowledged by:

Construct Co Inc.
Firm Name

Basil S Buchanan Signature

Basil S Buchanan, PresidentName and Title

12/07/2020Date

Notification of Public Records Law Pertaining to Public Contracts and Requests for Contractor Records Pursuant to Chapter 119, *Florida Statutes*

Pursuant to Chapter 119, Florida Statutes, Contractor shall comply with the public records law by keeping and maintaining public records required by the City of Delray Beach in order to perform the service. Upon request from the City of Delray Beach' custodian of public records, contract shall provide the City of Delray Beach with a copy of the requested records or allow the records to be inspected or copied within a reasonable time at a cost that does not exceed the cost provided in Chapter 119, Florida Statutes or as otherwise provided by law. Contractor shall ensure that public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law for the duration of the contract term and following completion of the contract If the Contractor does not transfer the records to the City of Delray Beach. Contractor upon completion of the contract, shall transfer, at no cost, to the City of Delray Beach all public records in possession of the Contractor or keep and maintain public records required by the City of Delray Beach in order to perform the service. If the Contractor transfers all public records to the City of Delray Beach upon completion of the contract, the Contractor shall destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. If the Contractor keeps and maintains public records upon completion of the contract, the Contractor shall meet all applicable requirements for retaining public records. All records stored electronically must be provided to the City of Delray Beach, upon request from the City of Delray Beach' custodian of public records, in a format that is compatible with the information technology systems of the City of Delray Beach.

IF THE SELECTED BIDDER/PROPOSER HAS QUESTIONS REGARDING THE APPLICATION OF CHAPTER 119, FLORIDA STATUTES, TO THE SELECTED BIDDER'S/PROPOSER'S DUTY TO PROVIDE PUBLIC RECORDS RELATING TO THIS AGREEMENT, CONTACT THE CUSTODIAN OF PUBLIC RECORDS AT CITY OF DELRAY BEACH, CITY CLERK, 100 N.W. 1ST AVE., DELRAY BEACH FLORIDA. THE CITY CLERK'S OFFICE MAY BE CONTACTED BY PHONE AT 561-243-7050 OR VIA EMAIL AT CITYCLERK@MYDELRAYBEACH.COM.

Acknowledged:

Construct Co Inc.

Firm Name

Basil S Buchanan

Signature

Basil S Buchanan, President

Name and Title (Print or Type)

12/07/2020

SOLICITATION SUMMARY

IMPORTANT NOTICE

The information you provide on this page may be read aloud at the PUBLIC OPENING for this Solicitation. It is VERY IMPORTANT that the summary information you provide below is exactly the same information contained in your Bid. If subsequent to the opening of Bids/Proposals, the City determines that the information contained in the electronic version of your Bid/Proposal is different from the information on this Solicitation Summary, the City reserves the right to deem your Bid/Proposal NON-RESPONSIVE and remove your Bid/Proposal from further evaluation and consideration for contract award.

BID INFORMATION

Solicitation Number: 2021-004

Title: ATLANTIC DUNES PARK SEAWALL REPLACEMENT

Due Date and Time: December 8, 2020 at 2:00PM

Name of Bidder/Proposer: Construct Co Inc

Address 1510 E Colonial Dr., STE 300 Orlando FL 32803

Contact Person Lindsey Buchanan

Bid/Proposal Amount (if applicable): 747,842.18

Authorized Signature: Basil S Buchanan

Date: 12/08/2020

By signing and submitting this Solicitation Summary, the Bidder/Proposer affirms that the information provided above is an exact and correct summary of the information contained in the electronic version of the Bidder's/Proposer's Bid/Proposal to the City of Delray Beach.

THIS SOLICITATION SUMMARY MUST BE SIGNED AND INCLUDED AS AN ORIGINAL HARDCOPY IN THE SEALED PACKAGE CONTAINING YOUR BID/PROPOSAL OR SIGNED AND INCLUDED WITH YOUR SECURE ELECTRONIC BID/PROPOSAL SUBMITTAL THROUGH WWW.BIDSYNC.COM.

BID/PROPOSAL SUBMITTAL

This form is part of your original Bid/Proposal submittal package. Please also attach any additional information or documentation requested in this solicitation. There is no need to include the informational sections of this solicitation in your Bid/Proposal submittal package.

INSTRUCTIONS

Sealed Bids/Proposals must be received on or before the due date and time (local time) via electronic submission at www.bidsync.com, or via hard copy at the City of Delray Beach City Hall Front Lobby Reception Desk, 100 N.W. 1st Avenue, Delray Beach, Florida 33444. Normal City business hours are 8:00 AM to 5:00 PM, Monday through Friday, except holidays. **All Bids/Proposals will be publicly opened** at City Hall unless otherwise specified.

Each hard copy Bid/Proposal submitted to the City shall have the following information clearly marked on the face of the envelope: Bidder's/Proposer's name, return address, solicitation number, due date for Bids/Proposals, and the title of the solicitation. If the Solicitation Summary is not included in the package, the City may deem the Bid/Proposal non-responsive. Bids/Proposals must contain all information required to be included in the submittal, as described in this Solicitation.

Solicitation No.: 2021-004

Solicitation Title: ATLANTIC DUNES PARK SEAWALL REPLACEMENT

Due Date and Time: 12/08/2020, 2:00PM

Construct Co Inc

Name of Bidder/Proposer

SUBMITTAL SIGNATURE PAGE

By signing this document, the Bidder/Proposer certifies that it satisfies all legal requirements as an entity to do business with the City, including all Conflict of Interest and Code of Ethics provisions.

Firm Name: Construct Co Inc.

Street Address: 1510 E Colonial Dr., STE 300, Orlando FL 32803

Mailing Address (if different from Street Address): 1510 E Colonial Dr., STE 300, Orlando FL 32803

Telephone Number(s): 407-282-5340

Fax Number(s): 407-900-0508

Email Address: lindsey@constructco-inc.com

Federal Employer Identification Number: **59-3591183**

Prompt Payment Terms: % days' net days

Signature: Basil S Buchanan

(Signature of authorized agent)

Print Name: Basil S Buchanan

Title: President

Date: **12/07/2020**

By signing this document, the Bidder/Proposer agrees to all terms and conditions of this solicitation and the resulting contract/agreement.

THE EXECUTION OF THIS FORM CONSTITUTES THE UNEQUIVOCAL OFFER OF BIDDER/PROPOSER TO BE BOUND BY THE TERMS OF ITS BID/PROPOSAL, FOR NOT LESS THAN 90 DAYS, AND THE BIDDER'S/PROPOSER'S UNEQUIVOCAL OFFER TO BE BOUND BY THE TERMS AND CONDITIONS SET FORTH IN THIS SOLICITATION. FAILURE TO SIGN THIS SOLICITATION WHERE INDICATED ABOVE, BY AN AUTHORIZED REPRESENTATIVE, SHALL RENDER THE BID/PROPOSAL NON-RESPONSIVE. THE CITY MAY, HOWEVER, IN ITS SOLE DISCRETION, ACCEPT ANY BID/PROPOSAL THAT INCLUDES AN EXECUTED DOCUMENT WHICH UNEQUIVOCALLY BINDS THE BIDDER/PROPOSER TO THE TERMS OF ITS BID/PROPOSAL.